F479ERAR—VIRRE LHER

AR — VRO 4 FR
A7 9MRARN—VIERL U

AT PR B S D 3 5E I
Rk 2 2421 04 30H

PRER G 2 0 U723 0 ST
P2 241 1H6H

A A1 ]

(+) ~F4E1T1H6H

() ROFE4FE11HTH

FTR22%11A8H
BWIATBEABRRR—VIREE 5 —

(+)

(H)

o) iZzoft (51&431) - ER) #KT.,

P2 211 A9H (k) ~Fk2 31 1HA8H (k)
AR—VIRFL U OFER /LY AL

‘BIG

B oE &R A& B R
o | BOE L heng—a] RaHR (7 o=qF—n] | EFE
B fke H

©) 11/6 W~ L~ — 1 1 %t 4 BEREE « < U /% 2
@ 11/6 'L v Y KK 1 % 0 BRI Z 8L A 1
® 11/6 D = g s 1 %t 1 TIAE Ly T ZAEHE 0
@ 11/6 KETNVTF 4 —T % 2 %t 1 EUTT 4 A 1
® 11/6 HERY L HF. C. 3 % 4 JI 7 a2 —1 2
® 11/6 PR A YZ ] 2 %t 0 R NVEFE 1
©) 11/6 F CH 1o 1 VINZAVN 1 0
® 11/7 A YN 2 %kt 1 WLy X 1
©) 11/7 BET T —X I xt 0 GBI T R 1
@) 11/7 B I % 0 EE T+ NVT 4 A 1
(D) 11/7 L1 v 3 % 0 F Cl & 1
@ 11/7 77T — 7 [l I x 0 Ky h=—% 1
® 11/7 =2 R— L ALIR 1 % 0 VTS ATy NI 1
@) 11/7 7+ — L HF 6 Xt 0 X777 b U 1
(F) < UHEREOMT 1] 3R —2F—20905TORL, 2] IR —AF —LD905 THOEIT,

WA KE YA O YIal (BIG) N4
) q=) G
1 % 600, 000, 000 1 6,123,514, 413
2 % 2,618,379 33 0
3 % 81, 822 422 0
4 % 9,540 3, 650 0
5 % 1,770 19, 375 0
S S - A (BIG) Mn% 4 ()
7e bagE () 1,728,131,100 1 %= 6, 049, 543, 284
BEOE (0) 5,760, 437 A 0
BB (B0 1,303, 238 3 % 0
4 % 0
5 % 0




*BIG100O

B oE R A B B
o | BOE L hengea) HRamR SO e TS I
BAfE H
) 11/6 W~ ~—1 1 %t 4 FRIEF -~V J A 2
® 11/6 L v VKK 1 % 0 TEKT AL A 1
® 11/6 Ja B iR 1 %t 1 TIAE Ly T AHHE 0
@ 11/6 KETNT 4 —V ¥ 2 % 1 EUTT 4 AW 1
® 11/6 ARV HF. C. 3 %t 4 JI~7 e % —1 2
® 11/6 A Z 2 X0 T AAlE 1
©) 11/6 F CH R 1 % 1 Y INZAVN 3 0
11/7 VA AN - 2 %1 ERE 1
©) 11/7 MET v hT—X 1 %t 0 BRI T RA 1
11/7 ] 1 % 0 WET A NVT 4 A 1
@ 11/7 LA Vv 3 % 0 F Cliz B 1
(X)) L UHEEOMT 1] 1 3R —AF—2 D905 TOMBE, 2] TR —LF—LD0045MTOAIT,
o) Ix#oft (5143 - ) 2&7,
WA KA WA K YIE] (BIG1000) HNEL 4
G q=) (M
1 % 14,531, 928 5 0
2 & 116, 440 156 0
3 % 12, 280 1,479 0
4 % 1, 340 9,035 0
& = A5 A [a] (BIG1000) A4 ()
e k& (M) 242,198, 800 1 % 0
BEOH (0) 1,210, 994 2 0
IR (B0 332,873 3 & 0
4 % 0
mini BIG
BFoE R & & R
T A B S Hawn (Fo=tFr—n] | S EFF
B H
@® 11/6 W~ L~—1 1 %t 4 RRIEF -~V /7 A 2
® 11/6 Ly VKR I %t 0 TEKT AL A 1
© 11/6 =g | 1% 1 TIVE Ly 7 A 0
@ 11/6 KETIVT 4 —T % 2 %t 1 BT T 4 A ILE 1
® 11/6 AR HF. C. 3 %t 4 7 a s —1 2
® 11/6 A Z )] 2 %f 0 A NVEAIF 1
@ 11/6 F CHT % 1 VINZAVN'T 0
11/7 BET 7 —X I % 0 BT T U RA 1
© 11/7 7 B 1 % 0 WEHTHNT 4 A 1
()

S UMEROMF T 1ZF—LF —2 D905 R TORH,
0] ZZzoft (51&51) - iER) 2&T.

(2] 1 ZAR—ALF—LD9045RTOAIT,




E Ry | E R IRE: KAl (mini BIG) M4
(M =N (M
1 % 1,198,170 31 0
2 % 22,256 669 0
3 % 4,100 5,427 0
I S - A ] (mini BIG) Ii%& 4 (F9)
ge ba%E (M) 148, 573, 200 1 % 0
BEOE (0) 742, 866 2 & 0
IR (KO 225, 949 3 & 0
toto
B oE R A& B R
o | B OE L heng—a) RaHR (7 o=qF—n] | EFE
B fke H
©) 11/6 W~ L~ — L 1 %t 4 BEREE « < U /% 2
® 11/6 Tl v Y KK 1 % 0 BT Z 8L A 1
® 11/6 Ta b rEH 1 %t 1 TIE Ly 7 ZAHE 0
@ 11/6 KETNVTF 4 —T % 2 %t 1 EUTT 4 AW 1
® 11/6 HERY L HF. C. 3 % 4 JIg 7 e & —1 2
® 11/6 PR A YZ ] 2 %t 0 R NVEE 1
©) 11/6 F CH 1 %1 VINZAVN 1 0
11/7 A I 2 %kt 1 WLy X 1
©) 11/7 BET T —X I xt 0 GRS T R 1
11/7 B I %t 0 EE T+ NVT 4 A 1
(D) 11/7 L1 v 3 % 0 F Cl & 1
@ 11/7 77T — 7 Ml I x 0 Ky h=—% 1
® 11/7 a2 R— LFLIR 1 % 0 VT ATy RTEE 1
() < UHREROMF 11 3R —2F—20905MTolb, 2] AR —LF—20905MTOAT,

o) Tt (51&m) - iER) 2%KT.

YA LKA LA 0K Y la] (toto) MR 4>
(FH () (D
1 % 6, 229, 329 12 0
2 % 62, 804 255 0
3 % 5,200 3,081 0
B = A5 A Al (toto) INE4: ()
e L&t (M) 213,577, 000 1 % 0
BEOH (A) 2,135,770 2 %= 0
R (K0 211, 563 3 % 0




o) iZzoft (5I&m) - LK) 2FKT.,

‘mini toto AM
B oE R A B B
o | BOE L hengea) HRamR SO e TS I
BAfE H

) 11/6 W~ ~—1 1 %t 4 FRIEF -~V J A 2

® 11/6 L v VKK 1 % 0 TEKT AL A 1
® 11/6 Ja B riEH 1 %t 1 TIALE Ly T AHHE 0

@ 11/6 KETNT 4 —V ¥ 2 % 1 ETT 4 AWE 1
® 11/6 HERY L HF. C. 3 % 4 JI 7 a2 —1 2
(B) < UHEOMB 1] ZFA—2F =005 TOBE, (2] ZA—LF—LD905MTHOAT,

Y A5 Ry kA (mini toto AH) HN%E4:
(M) () (M7
1 % 2,197 5,191 0
S A (mini toto AR) N4 (M)
e e (1) 22, 810, 500 1% | 0
HEOH (1) 228,105
Bt (Bo) 45,676
*mini toto B#
BoE R & O B
Yo | 2T rear—a) N (Fo=t7—n] | < EFE
B H
) 11/6 PN YZ ] 2 %t 0 R NVEE 1
© 11/6 F CH 1 %1 VINZAVN 1 0
® 11/7 A YN 2 %kt 1 WLy X 1
@ 11/7 BET T —X I xt 0 HR T T R 1
® 11/7 ] I %t 0 EE T AT 4 A 1
(X)) < UHEEOMT 1] 1 3R —AF—2D905MTOMBE, 2] TR —LF—LD05MTOAIT,
o) Ix#oft (51451 - k) 2%7,
Y A ARE VA O IEl (mini toto BHA) MIE4:
(M) q=p (M)
1 & 8, 302 1,008 0
o= A F Za] (mini toto B MNE4: ()
e ek (1) 16, 738, 700 1% | 0
HEOH (1) 167, 387
Bempet (Ko 34, 330




*totoGOALS3

FE_E _# & &k
. [F—2sF—2] e || < LR
B’W’%E No. [7'7:2/])?:_‘.5] uﬁmﬁ%
2 o
11/6 -@___{__E:]{?EH__;‘ _______ Lo_lo-. 1 -
® TILE Ly 2L 1 1
11/6 -_@)___j_t:‘é'ﬂ?_ﬂ:?j:{ﬂ: ______ 2_ ______ 2 -
@ ®VTT 4 AWK 1 1
11/6 } @. L _;T:%B_—‘j-_/_j_jli_c_ ________ 3_ ______ 3 -
® | 72— 4 3

) < UFEROMF T0) 13905 To{/F—2058 Tos) . 1] 1Z905HTOREF—208R 8 T15] |

(2] X904 COEF—LDEA T2/ . 3] 1F905 M COEF—2r0Hm 1380 ) 2%#7,

R e E RV VISE KAl (totoGOAL3) AN 4>
(M) q=p; (M)
1 % 462,316 19 0
2 % 3,500 1,677 0
B o= A5 it A [a] (totoGOAL3) MN% 4 (M)
e b4&%E () 29, 308, 000 1 % 0
B 2 % 0
i

(1) 293, 080
(KO 46, 731




